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PART A : Short answer questions (up to 25 words) 10X
All ten questions are compulsory.

PART B : Analytical/Problem Solving questions (up 10
marks = 30 marks. Candidate has to answer SIX ques
eight. _

PART C: Descriptive/ Analytical/Problem solving questions 5 x 10 marks =
50 marks. Candidates have 1o answer five question out of seven.

2 marks = 20 marks.

100 words) 6 X 5
tions out of

The following code(s) arc required:
l. Nil 2 Nil
PART A

b 1f in every 10° Si atom one Boron atom is mixed then find the no of majority
carrier concentration.
2 Find the diode resistance at room temperature when its forward current 1s 30 mA.
3. [If the output of a histable multivibrator s a squarc wave of 20KhZ. then find ity
' triggering frequency. *°
4. If R, = 10K then find the value of Ririn a voltage shunt feedback amplifier.
Assume the value of D= 1050. "
5_Diaw channel resistance rg, of a FET with its Vi,
},/ff the output of a chpper circuit is clipped at two different level, then find the
minimum no of diode in it.
J. Compare input resistance of CC, CB and CE. ¢
_R.-If the input to a voltage doubler is v = 10 Sin100t then find its output.
9. Define diode static resistance.
10. Draw the output of a Schmitt trigger if its LTP =1.5 volt and UTP = 3.5 volt
Assume the supply is 9 volts. .
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PART B
. L,I’F;u output wave fomin Fig 1 B

t orking.
Draw the circuit diagram of a full wave voltage doubler and explain its WOTKIng

,
3. Design an Astable multivibrator for generate 20 KHz clock. o
3 : . ils reactance vanation
L. Draw the cquivalent circuit of a quartz crystal and draw its r¢
with frequency
o4 A current shunt feedback amplificr has R, = 10K€ and K= 300€2 then l'md these
resistances with 50 % negative feedback Assume the open loop gain 1s 500
6 Draw the h-parameter model of CC amphfier and explamn how these parameters
can be determined form its characteristios

7 lmd:—:- mbig 7B

‘j /'- .

8_Adeswgn a colput oscillator for 20 Mi, frequency Assume the = 50
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PART €

/ .
'/rg’““' the wavcform at point A B and C in Fig 1 ¢
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2. Define the load line and operating point and find these value in FIR
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3. Draw the circuit diagram of a source follower and find the expression of its
”

voltage gain and output resistance.
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Draw the circuit diagram of wein bridge oscillator with operational amplifier and

explain its working.

Why multi stage ampliticr bandwidth is lower than
overall bandwidth and gain in a three stage amplifier
stage is 10 dB and BW is 100 K2 .
What is AC ND dc ANALYSIS of an amplificr” Draw such equivale
a RC coupled amphlicr

a single stage amplifier? Find
Assume the gain of single
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